











[

" $% & (1) * ! TR
& ™ % FU& N -1



#8111 19%1&!1
et ) F (0!




[ 1]

++2T







[

$"S/OL( < Iy 1 :
#10" +11'2)) #& ( ((
" 4o #

$ %

R &

# ()



RS
H+$ 3H ("]

! 7] A 13 ! !



[

H+$ 3H ("]

o ! | "l ] || 13 | !
. K K
13 | !
25

(@))
[R— w
= 415 16
~ 0%

1946 1956 1966 1976 1986 1996 2006




[

H+$ 3H ("]

! | "] R 13 1 !
! 1 | ! R
13 ! '

B T I LR
V& H# #

V< tlgHE | # o oo
|1 = |




S s

I"$
+ "% % ,
"% . $/0+1/ 23
9 I -
. " !
. | # 1> ! !
I+ 7
¢ 5 ! s =1 4 4
e 3 @! ! IAl % " #

E - 4" 4 . C 1 _5*2%* 23




S s

' -+
- R Y (P (- ! )
[ 0 i ] )
| 0 # #
116 ! } &! #)I 1
I N I
D ! I E #! $ 8
@l sl @s ! o$! $ " $
A TR I . )$! !
# $1& 'L 1#)$! ID&2!IM $ID&2!

# ' . ID&2 ) |







6**% # * * #



6**% # * * #



6**% # r# 1" # S H#I% &



6**% # r# 1" # S H#I% &



L.

g8 I" | =1 16 =F

1G#  H(@@™"™ 1= |
R N .




|+!$

#E ) (5) #T)N) S



|+!$

<>

#E ) (5) #T)N) S




|+!$

#,+#D (-

#")0) $




L

Some data gaps

110" . 1GHE 11 === |
e g 4 S=1 3
L# 1L 1= 1. 1= 16 ) LotE

=L (G () el G
o PP T el PR » )




D

Some data gaps

N Ve T R ==
o #$ 4 St=1 s
gL =1 1= 16 ) I

Com (1 e # LG,
i - S o S s . » )

1116 | TN o

T 1)



L

Some data gaps

(N | G# 1 ! == I=1 !
I A $! ! 4 $=1" $ 1
L # 1" | =1, I=16 )! 1 # !
o= b (L (] 1> # G
*++H A +- 4. " + )
1 le | || |# ! ' ! '
'l 1)
1 !tle 13 "I $! $! # I P
" ! I oo
AR # !
# #
7 # * !



e

OH+K5!I 2515 +:5

9 LI # " I I =1 I= 6" I,
0 & - 3
% - 809 ## 3
( - , #3
< =#$ # 3



e

OH+K5!I 2515 +:5

9 LI I# " 1 1 = 1 1= 16 |
0 & - 3
% 8 9: ## 3
( , #3
< = #$ # 3
19 | | $! | >
#1 @ $ 1"6  $ |
== 1 = 4 | 6



e

OH+K5!I 2515 +:5

% >
% !



e

Acknowledgements
- # 2/ $ $@ / $; ' $
1 # $ $1
= $; $< + #$0 0O0# $= A# $(A
I " % $( "#%$" " $4 @ $ B $
= B $ B $1 < # @ ; &%  $# ;0B
B $=% $; 20 $B ? $@ ' $ #' %
4 4 $4 ..@# 4# $+ 4% $° / $
(/ $= /| $<# ( $; C $ @ #C $ 1%%$
; 1 $ [/ D *
* LI = 16! 1&*8I5 1A P! 1& ! !
* #D | 1&*818 I< $l## 1 172" !

2#= 1+ 1" (I'8IM:(BC)



e

Citations and database

6! ! '()IN9O# 19 I A Lo A
"0l 13 NI I* 5 I
8 ! ! 4') ]
L re)wps & 1t ! 1A 1l
o 13 - I?" ! I A Q* $!
D8 b -4 (
# -446 = 4" 4
+ 1J 1 IR# 1 1| I -l
S =



